A A EIE R RS
BT EFESRES



FTH2HE BNARZESZEESERFE

| EEHH |

EoWmICED., UREBE - FROHBE(LZHEL ., IR 2 RMH
HEBUAMBOFEREWFELELTOES EREZRE-TAEDIC, XD
CEERICEBEEZEBRVWELET,

1 S ELHEELTOESEHR
2 HEeBUHHESEE OB G EHIE D
3 LEHEHORERL
4 BhEE &g o AR

I SHBOEE
RAOEDICEDTE, EERRRRVOEEZEL2MMEL. BYLEY
ERMDET,

Il =B EHE
1 —#Ee (EXEEE 1,361,000 M (17 600M)
2 BRETUBLWES 883,000 M (177 300F)

IV EEEAE

1 —BES (RUFAKEES) 108 1H~3A%H
2 BEREITITDDWVWES 12H1H~12H=xH
%= % 2 [
5 A R RSB
7 A BAERED - IRELOEM
9 A ERES PRELOHBENES

10A FWPNREEESESH

12HA MARZTTHNWEEES
BARIEZTTOIVWRELIZERHE  EHEEOER

2 A RWPREEZR B #

3 A EELZEHE

CAADOH YR T 3L A,

L ROPRERAES




FOFIREE(CKDTH2FEBA

@ HEISH T DEIMEE

No H{x 4 AR BhRiEE
1 |[BETSEEISTEES Wy 100,000 M
2 |gmans wye | 60,000 FI
3 e EELe e 50,000
4 %#/%J?;%ﬁ%&) s 000
; ﬁﬁ,@%w&) _ R 70,000 F
6 [fEBRR HEE 30,000 M
7 |mmnEEcpmars s | B 30,000
_>8~ %ﬁ%@%ﬁ%l’%ﬂ 7 Wne 30,000 F
9" [ERTAINAL—& EEE 30,800 M
R —— WAL E T E 202,005
& &t 762,095 M

@ RE-HRICHTHEUBEREE

No Lz ¥ | AES BhRyEE
1 [t EFCAUVAE 50,000 M
w0 ARER 50,000 3
3 |mmeEm . - Aéﬁc;;ooo M
g |emmET #8- AR 30,000 [
5 |zECHEE 4 R - P 30,000 F'%“
6 |gmsm - 30,000 F
7 leowm e A& 30,000 M
g |mEm B N 30,000 M
= 280,000 [
& 3§ 1,042,095 M

(5 &)

FRS1EERVHESEHRE 1,432,095 M
EA~BIEEE A 390,000 M
TH2EE FOPRESEIKEE(E) 1,042,095 [



LFEFeEER

i 3% 4

[ElF RS S

PR A Z O S

giﬂi n’[‘%i

( B FREs14E 48 1H E 4 24 3A31A (BAAL 0 M)
e L T 5 M) BL5E (B) SR (1) - (B) 55
e e [FEF I 2,550, 000 2,264, 265 285, 735
A |ZRALER S S IA 1,000 0 1,000
5 FEIFMIRAG () 2,551,000 2,264, 265 286, 735
0| 32 |Fis ST 128, 000 127, 000 1,000
1| H
£
)
I
% PrEIETH G (2) 128, 000 127, 000 1,000
R R G SINEER (3)=(1)-(2) 2,423,000 2,137, 265 285, 735
i | U
A it 72 i SN G (4) 0 0 0
| 32
3
i
X
)
1%
X it 75 2 i % S A & (5) 0 0 0
it 7 e i 55 W ARG R (6) = (4) - (B) 0 0 0
bl EINSEENEITON 127, 000 127,000 0
21PN F DO DOFFFHIAG (7) 127, 000 127,000 0
fih| 32 [IE APV 5 | 3 2,550, 000 2, 264, 265 285, 735
D\
163
0]
iz
f 4
)
g
53 Z Do iE T HE (8) 2,550, 000 2,264, 265 285, 735
Z DO FEIE &IV FERH(9)=(7)-(8) A2, 423,000 A2, 137, 265 A285, 735
T e 32 (10) 0 0 0
0
WG I A 0D =3)+(6)+(9)-0) 0 0 0
RO A G 4 (12) 0 0 0
YIRS E &S QD +(12) 0 0 0




